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Thus, h[n] = {1, 4, —1,—j} = e2™(u[n] — u[n — 4])
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y[[n]] = y[n — 1] + z[n| — z[n — 4]. Let z[n] = §[n] in which case y[n] = h[n]. Thus, the defining eqn for
hin|is:

h|n] = hln — 1] 4+ d[n] — d[n — 4]. There are no iniitial conditions and the system is causal so h|n] = 0 for
n < 0.

n =0: h|0] = h[—1] 4+ §[0] — §[—4] --> h[0] = 1. From this point onwards é[n| = 0
n =1: h[l] = h[0] + §[1] — §[—3] --> h[1] = 1 (since h[0] = 1.)

n=2: h[2] = h[1] + 8[2] — §[—2] > h[2] = 1 (since A[1] = 1.

n=3: h[3] = h[2] + §[3] — §[—1] --> h[3] = 1 (since h[2] = 1.)

n=4: hl4] = h[3] 4+ 4[4] — 6[0] =1 — 1 = 0 --> h[4] = 0 (since h[3] = 1.). From this point onwards
dn—4]=0

n =>5: h[5] = h[4] = 0--> h[5] = 0 (since h[4] = 0.)

Thus, h[n] = {1,1,1,1} = u[n| — u[n — 4]
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